CER17411 A 108EX

OH1 7’;:‘*)%5:%%%%

b

e/l

= W T I’ F IR FI®RTHRT]
KA B [T T | 200m K |meuanen) Gm s me| B = e
‘ ESicEd 11:28 | 11:13 10:38 10:34 10:20
EA7z/—ILA Me/ly 298,060 1,000 <G.1 250 <0.01
d-t~-TF N T7x/— ) g/l 580 <0.1 <0.1 <0.01 <0.01
4R F NI/ — | pgt] - - - - -
drp T jL T/ — | peg/L - - - - -~
4-n=-~NTF LTz /— b e/l - - - - -
IO/ —-jL e/l - - - - -
4t~-FO9F NI/ —I | g/l - - - -~ -
4-n-FTFNIT/—IL] e/l - - - - -




OH1 m\ﬂ%ﬁ:ﬁ%ﬁ

Fr 17412 A8 BIEK

1l

Mg/L

; BT PR PR I T

TR /K H & By [TE ~ | 200mF |smrenes I s

S 7 11:30 11:10 10:42 10:35 10:20
ERTVI/~ILA ueg/L]l 29,000 870 79 260 51
d~t-TFNTx/~ | pe/l| <01 <0.1 0.1 £0.01 <0.01
dn-RF LT/~ W ne/t - - - - -
d—n=-~NF N T/ pe/l - - - - -
A=n=-~NTFILTx /=] ne/L - - - - -
/NI /—Ib ue/L - - - - -
A~t-ATF 7/ —Ib | e/l ~ - - - -
A-n-AOFILTT/— | ne/l - - - - -




OHI17DHERER Ep18%FE1H 128K

N I N N

BKHE & By (B T | 200m T |ransnss) mmnane|wn=aes)
s T 7 10:45 10:40 10:35
EXJT/—IVA ggL] - - <01 | <001 | <001

a-t-TJFNoz/— | ne/l - - <01 <0.01 <0.01
4-n-RuF NI/ —IL| 1 g/l - - - - -
dn-~F T /— U g/l - - - - -
d=n-~NTFNTx/— | ng/L - - - B -
AT xS — te/l - - - - -
d~t=FF T/ —b | e/l - - - - -
4=n~FAFF NI/~ pe/l - - - - -
W ue/l - - - - -




2

;Ug/L

QH175 iR % _ FRISF2AHIEK
T A O I I
TRKHE HHETE T [ 200mF |eenars| Bonamel &) =nes
FRK i 20 11:35 11:00 | 10:35 | 10.20
EAJT/—JLA Ug/L| 4800 - 0.2 31 0.02
d--TFNT7x/—I | ug/L 1.1 - <0.1 <0.01 <0.01
4= F T/ =) ue/l. - - - - -
d—-~NFIW T/~ U] uell - - - - -
d—n-~TFILTE/— L] pe/l - - - - -
ST —)L (/L - - - - -
A HFN Tz /N fugl] - - - - -
A-n=-A0F T/ — W} g/l - - - - -




b

He/l

Q17 A RE _ TRR18EIAOHEK
EF 3LES I F R F LR F§ R T ®RT
K By B T | 200m K |wmienen] sk a)=nen
K20 : 11:40- | 11-30 T1:00 1053 1040

EXJr/—ILA Zg/L| 9,700 014 | <01 <0.01 0.06

4~-TF LT/~ ug/l| 042 <0.1 <0.1 <0.01 <0.01

4-n-FRNIz/—jb} ue/l - - - - -
den-~F I/~ pel| - - - - -

Aon=~NTFI T/~ ue/Ll - - - - -

JZNTIT/ = pe/L| - - - - -

4t-FHF LT/ —iL f pet] - - - - -

bn-AHF N Tz — | we/L] - - - - -




R84 4 H 20 AT

OH18H RS _ _
E-E3rd EEE S ENNE AN E W

KD By __._.L&,% T | 200mF [wmnenen|wmsenelsnzsms
: ' 557}(5#% 11:54 11.40 11:03 11:0_0 10:43
EARA7x/—IVA I g/L 7,800 0.16 . <01 0.15 <0.01




OH18NHERE _ _ ER18E7A27RIA
322 W r ] R FJIR F] R PR T
K Hb e Bir T E O~ | 200mF |zenansn] GEmneme| s = aem|
K T1:55 1145 T1.00 T11:00 10:43

ERJTT)—JUA T e/L] 14.900 | 0.49 ~20.1 2007 | <001




OH18AHmAR  FRI8#E10A20HEK
EE3 £ W F IR R T TR F T &K

SRR M By [T T | 200m b |weianes] helsne] S =
HIKIEEZ 11:20 11:40 10:35 10:25 10:10

CAJT/—JLA ~Tue/L] 16,700 0.13 <0.1 <0.01 <0.01




QH18L AR R ' _ __ERiIsgF12R7HEK
53T B F V3R F I3 FL R TF|IRTE

/K IE & B E F ] 200mE |mensmen mEinsne] e = e
TR K2 1058 § 11:10 10-31 70,28 10:13

ERA7z./— LA geg/L] 23300 0.08 <0.1 <0.01 <0.01




FR1944 A 26 HEEK

OH1 gﬁz\#ﬁfﬁ%’%ﬁ

R A T S T

IR A B 8 K | 200m T |wmiesen] e s e
SRR ] 115 | 1105 | 1048 | 10:42 | 10:28
EAJT/—IUA 1g/L] 60000 | 055 | <01 | 015 ] <001




OH19pHERR SR 1947 A 18 H DK

: AR E N EE N
SR = B[ B T | 200m P |ssnansalboile ke )l = # e
SRR 9:28 8:40 10:20 10:30 11:10

| EXT T /— LA teg/Ll 5600 130 052 0.02 < 0.01




ERHI19F108 118K

QOH1 Qéz\jfﬁ%ﬁ%ﬁ

" T I ® T [ F 1% T ] & T

K Bfr | B T | 200mT lemnensn| s amne] a=sem
Bk 11:15 ) 10:55 | 10:10 | 10:05 | 945
EXJT/—JLA 1g/L] 19000 | 005 | <01 ] <001 | <001




OH19 RS __ ER19412 A6 BIRK
EE3ra BT IR T IR BT T
FR/K HE m B THE T | 200mF |eenensn|dmenelsi=tem|
PR /K 2 11:20 11:02 10:33 10:28 10:13

EX7T/—~ LA we/l.] 24,000 <01 < 0.1 < 0.01 < 0.01




OH20 D it B _ __ EH20%4 825K
3 R I S I I

P 7K B o By [ ®E R | 200m~ e [y Pl e
:R?EFF i 11:31 11:17 10:37 10:28 10:15

EATJx/—ILA e/l 12,000 < 0.1 < 0.01 < 0.01 < 0.01




QH205 HifE f & . . FR20E7 B18HEEK
ST B F TR F Tk Rl & F 1R
5K HE o HBETTE F | 200mF |sonanes] dmienel w = e e

3!{57 % 12:15 12:15 13:15 13:15 13:45

EA7x/—JLA u g/E 18,000 0.2 < 0.01 < 0.01 3.6




ER20410H 16 HEK

QH20- T H % e ¥

_§¥%§__ - N I -
TR/ HE B F B R~ | 200mPF |nanansolsmnane] wn=ssn|
SENET] T1:30 1113 10-33 10:26 | . 10.10

EXJIT/—ILA Tig/1] 16,600 04 <01 | <001 1 <001




FERR20E12H485FK

OHzoﬁa\Jrﬁfa%%% . A

£33 Iw T [ R F Ik FJ] & F [ IR F|
Te/K HA T IE K | 200m R [mmmemen] o) s = g e
K 7K o 12:05 11:00 10:15 10:07 9:50

ERTT/=ILA g/l ] 10,600 7.4 <0.1 <001 | <001




H21 /54T i B 3%

SERE 21 4F 4 A 23 HERK

E2X54 kR T kT kR T kR T kT
£RoK it = B T 200m T |wm &R HEIARE | E)I=HEE
£ 7K B %l 11:45 11:25 10:25 10:20 12:25
EX7z/—JL A tg/Ll 5500 0.2 < 0.1 0.3 2.2
H 2 100k RE TRk 21 4 8 H 12 HERK
=S 3 E kR T kT kR T kR T kR T
K | E T 200m T |mEmARFH| HENAFKE 151 =HEEX
£ 7K B %l 13:35 13:15 14:25 14:15 9:20
EX7z/—JL A Ug/L 9800 0.79 < 0.01 < 0.01 < 0.01
H 2 104kRE TR 21 4F 10 A 21 A K
=S k2 kR T kR T kR T kR T kT
Rk = E T 200m T |mEmARFH| HENARE | BI=HES
K BEFZ 10:08 10:55 11:41 11:50 12:10
EX7z/—JL A Ug/L 4900 0.7 < 0.01 0.2 < 0.01
H 2 1 00k R & TRk 21 4 12 A 9 AERK
=S S kR T kR T kR T kR T kR T
K = E T 200m F |mmAaRFH| HENARE | B)I=HES
KB Z 10:10 10:20 11:00 11:02 11:15
EX7z/—JL A tg/L| 14000 4.6 < 0.01 < 0.01 0.02




IR 22 FEIWHERR

2010.4.21 K5

EXG54 IRT KT KT KT KT
FR K #h 5 E T 200m T HENE KT HE A % BINZHER
K B Z 11:28 11:40 10:50 10:40 10:25
EX7z/—ILA | pg/L 3,000 0.4 < 0.01 0.01 0.02
IR 22 FEIWHERR 2010.6.10 K%
EX54 IRT RTF kT KT RTF
1K h 25 B T 200m T A FRF A HEIIEHRE BEN=EHE
R K B % 11:51 11:31 10:58 10:50 10:36
EX7z/—ILA | pg/L 10,000 0.32 < 0.01 < 0.01 0.03
IR 22 FEIWERR 2010.10.7 $£K 4%
EX54 ]RF IRT T RT IRT
17K Hh S B T 200m T B IS R F A HENERE BIN=EHE
£ K B %l 11:47 11:15 10:38 10:30 10:15
EX7z/—ILA | ug/l 9,600 0.55 <0.01 <0.01 <0.01
IR 22 FEIWHERR 2010.11.17 K%
X854 ]RF ] )T R R
FR K #h 5 B T 200m F HENEFKF HE S T BEI=HER
R K B %l 13:56 14:03 13:20 13:13 13:00
EX7z/—IJLA |ug/L 10,000 0.55 <0.01 <0.01 <0.01




ERR23FESMERR H23.4.6 127K
X544 IRT R IRT ]RT ]RT
R K Hh 5 BT B T 200m T HEBENERFW HANARE BEIN=SER
£ K B5 % 11:30 11:05 10:30 10:25 10:10
EX7z/—IL A ug/| 1,800 0.17 < 0.01 < 0.01 < 0.01
H23.6.9 ¥E K
XG4 IRT R RT R ]RT
R K #h &S B B T 200m T B IE S F A HENERE BIN=5EHE
£ 0K B %I 11:20 11:30 11:05 10:48 10:45
EXZ7z/—IL A ug/| 9,500 0.14 0.01 < 0.01 0.03
H23.10.12 7K
EX54 RT RT RT RT RT
2K #h & B B T 200m T B IE S F A HENERE BIN=SEHE
£R K 85 % 11:40 11:35 10:50 10:40 10:30
EXJz/—IL A ug/| 13,000 0.17 < 0.01 < 0.01 < 0.01
H24.3.8 £ 7K
X554 RT RT RT RT R
oK #h = =R vd B T 200m T HE NS R F IS T BINZHER
R K B % 11:20 11:11 10:40 10:30 10:13
EXJz/—IL A ug/| 220 0.02 < 0.01 < 0.01 0.03




TR 224 FESTRER

H24.5.16 %K

X544 IRT KT T KT KT
R K Hh 5 BT B T 200m T HEBENERFW HANARE BEIN=SER
KB %l 11:25 11:10 10:32 10:27 10:11
EX7z/—IL A ug/| 110 <0.01 < 0.01 < 0.01 < 0.01
H24.7.19 $£ K
XG4 IRT kT kT KT KT
R K #h &S B B T 200m T B IE S F A HENERE BIN=5EHE
K B %l 11:00 11:05 10:30 10:25 10:05
EXZ7z/—IL A ug/| 8,100 0.15 <0.01 < 0.01 <0.01
H24.10.10 &K
EX54 RT T T ]T T
2K #h & B B T 200m T B IE S F A HENERE BIN=SEHE
£ K B % 11:25 11:10 10:35 10:25 10:15
EXJz/—IL A ug/| 8,000 0.19 < 0.01 < 0.01 < 0.01
H25.2.20 £ K
X554 RT RT RT ] R
oK #h = =R vd B T 200m T HE NS R F IS T BINZHER
£ 0K 85 %I XA XA 10:33 10:30 10:12
EX7z/—IL A ug/| - - < 0.01 < 0.01 <0.01




H2 %.2

1 105 1 60 1 a5 1 a1 9:50

ol 1 500 < m < m < m < m
H2 5.18

111 1 m4 9:47

ol — — <M <M < m
H2 9.25

145 1 850 145 140 135

ol 4 000 0.13 < m < m < m
H2 8 212

9:50 9:55 15 15 1 108

ol 6 600 0.02 < m < m < m




H2 .28

120 133 135 135

ol — < m < m < m < m
H2 8.17

15 1 (58 1 M8 1 @3 9:50

p ol 6 000 < m <M <M < m
H2 61 B0

1 100 1 100 1 @5 1 m4 9:50

p ol 5 500 0.11 < m < m < m

Mol




H2 5.20

130 120 125 1 20

ol — 0.5 < m < m < m
H2 77.22

1120 1125 1 85 1 @9 1 a4

ol 90 0.49 <M <M < m
H2 P.30

120 120 135 135 130

ol 2 300 0.39 < m < m < m
H2 74 27

1 @5 1 @5 9:47

ol — — < m < m < m




H2 8.15

1 460

ol

< M1




T2 9 FESITHRR

(EX7x/—ILA)

H29.10.24 H29.7.13
BEBA WF KT
BROK HiE AR Bz RHK H )& SR
TR 11:10 12:10
AT =/ —IVA ng/l 420 <0.01

2YN



T3 0 FESITHRR

(EX7x/—ILA)

H30.8.22 29N

BESH RF W
BROK HiE AR Bz RHK Hi )& iR

TRAERZ 10:00 10:30

AT =/ —IVA ng/l 2400 <0.01




SHRTEESITERE
(EX7zxT/—JLA)

R1.8.22 29N

BESH RF W
BROK HiE AR Bz RHK Hi )& iR

TRAERZ 13:22 12:45

AT =/ —IVA ng/l 450 <0.01




SH2EEFITHERK
(EX7zxT/—JLA)

R2.8.19 29N

BESH RF W
BROK HiE AR Bz RHK Hi )& iR

TRAERZ 10:10 10:58

AT =/ —IVA ng/l <0.01 <0.01




SHMIEENTHERRK
(EX7zxT/—JLA)

R3.9.17 29N

BESH RF W
BROK HiE AR Bz RHK Hi )& iR

TRAERZ 10:20 11:10

AT =/ —IVA ng/l 4400 0.01




SHMAEEFITHERR
(EX7zxT/—JLA)

R4.8.31 29N

BESH RF W
BROK HiE AR Bz RHK Hi )& iR

TRAERZ 10:30 11:35

AT =/ —IVA ng/l <0.01 <0.01




THS FESTHERR
(EXT7z/—JLA)

R5.8.30 2N

HERA RF ®F
Rk HiLA L F\7A B A H ) 1-E iRl

BTAKEZ 10:30 11:20

ER7=/)—/VA rg/l 0.21 <0.01




